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Participants: Older than 60 years (mean of 70.7 years) with coronary

Baseline BP (mean): 141.8/82.1 mm Hg

Methods:Participants had received treatment with
atenolol and hydrochlorothiazide or sustained-
release verapamil and trandolapril. They were
categorized into 3 groups by achieved SBP: <140
mm Hg, 140 mm Hg to <150 mm Hg, and >150
mm Hg. Importantly, those in the <140 mm group

Results: After about 4 years of follow-up, those
who achieved an SBP <140 mm Hg had the lowest
rates of the primary outcome, all-cause mortality,
cardiovascular mortality, M, total stroke, and
nonfatal stroke compared with the other groups

(P <.001, all comparisons).

were significantly younger than the other groups,
and investigators attempted to erase this effect with
propensity-score matching.

The primary outcome was first occurrence of
all-cause death, nonfatal myocardial infarction (MI),
or nonfatal stroke, while secondary outcomes were
all-cause mortality, cardiovascular mortality, total
MI, nonfatal M, total stroke, nonfatal stroke, heart
failure, or revascularization, tabulated separately.

22
m =1747

Achieved SBP 140 mm Hg
to <150 mm Hg

2222 .

222982298

Achieved SBP <140 mm Hg

Achieved SBP >150 mm Hg

Average SBP achieved:
131 mm Hg

Average SBP achieved:
144 mm Hg

Average SBP achieved:
146 mm Hg

9.36% experienced 12.71% experienced 21.32% experienced
all-cause death, nonfatal

MI, or nonfatal stroke

all-cause death, nonfatal
MI, or nonfatal stroke

all-cause death, nonfatal
MI, or nonfatal stroke
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aspx?articlelD=1898531.


http://content.onlinejacc.org/article.aspx?articleID=1898531
http://content.onlinejacc.org/article.aspx?articleID=1898531

